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We need to find 2/6 of 30.  

 

30 ÷ 6 = 5, so 1/6 of 30 is 5.  

 

5 x 2 = 10. 2/6 of 30 is 10. We should send 10 Oompa-loompas 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

He should eat 3 tenths because that is the same as 

30/100, which is more than 23/100.  

 

4/10 of 100 = 40g 

40g x 5 chocolate bars = 200g for 5 bars.   

 2/5 + 0.3 = 0.5 or 5/10, or ½ of the chocolate bar made of berries.  

Half of the chocolate bar will be made of chocolate.  

We could say e.g. half, 1/2, 0.5, 5/10, 50/100 


